Natsume-Kitatani et al., Table S8
	T3H10E3

	Lysine residue pairs
	difference of means
	wholly significant difference
	p-value

	mean[H4 Lys12]=0.20353 vs. mean[H4 Lys16]=0.43273
	diff.= 0.22920
	WSD=0.19812
	P=0.01013

	mean[H3 Lys14]=0.20671 vs. mean[H4 Lys16]=0.43273
	diff.= 0.22603
	WSD=0.19638
	P=0.01104

	mean[H4 Lys8]=0.23496 vs. mean[H4 Lys16]=0.43273
	diff.= 0.19778
	WSD=0.19442
	P=0.04270

	mean[H2A Lys7]=0.23564 vs. mean[H4 Lys16]=0.43273
	diff.= 0.19709
	WSD=0.19219
	P=0.03971

	mean[H2B Lys16]=0.24096 vs. mean[H4 Lys16]=0.43273
	diff.= 0.19178
	WSD=0.18959
	P=0.04519

	mean[H2B Lys11]=0.24321 vs. mean[H4 Lys16]=0.43273
	diff.= 0.18953
	WSD=0.18649
	P=0.04348

	
	
	
	

	T9H1E5

	Lysine residue pairs
	difference of means
	wholly significant difference
	p-value

	mean[H4 Lys16]=0.23928 vs. mean[H2B Lys16]=0.54097
	diff.= 0.30169
	WSD=0.23687
	P=0.00286

	mean[H4 Lys12]=0.25244 vs. mean[H2B Lys16]=0.54097
	diff.= 0.28852
	WSD=0.23476
	P=0.00493

	mean[H4 Lys8]=0.26937 vs. mean[H2B Lys16]=0.54097
	diff.= 0.27160
	WSD=0.23240
	P=0.00974

	mean[H3 Lys14]=0.30702 vs. mean[H2B Lys16]=0.54097
	diff.= 0.23394
	WSD=0.22970
	P=0.04248

	mean[H3 Lys27]=0.31340 vs. mean[H2B Lys16]=0.54097
	diff.= 0.22757
	WSD=0.22657
	P=0.04815

	
	
	
	

	T5H9E2

	Lysine residue pairs
	difference of means
	wholly significant difference
	p-value

	mean[H2B Lys16]=0.56880 vs. mean[H3 Lys18]=0.94114
	diff.= 0.37234
	WSD=0.21003
	P=0.00000

	mean[H2B Lys16]=0.56880 vs. mean[H3 Lys27]=0.94033
	diff.= 0.37154
	WSD=0.20821
	P=0.00000

	mean[H2B Lys11]=0.58831 vs. mean[H3 Lys18]=0.94114
	diff.= 0.35283
	WSD=0.20821
	P=0.00001

	mean[H2B Lys16]=0.56880 vs. mean[H3 Lys23]=0.92208
	diff.= 0.35329
	WSD=0.20616
	P=0.00000

	mean[H2B Lys11]=0.58831 vs. mean[H3 Lys27]=0.94033
	diff.= 0.35203
	WSD=0.20616
	P=0.00001

	mean[H4 Lys16]=0.66568 vs. mean[H3 Lys18]=0.94114
	diff.= 0.27545
	WSD=0.20616
	P=0.00115

	mean[H2B Lys16]=0.56880 vs. mean[H3 Lys14]=0.91700
	diff.= 0.34820
	WSD=0.20383
	P=0.00001

	mean[H2B Lys11]=0.58831 vs. mean[H3 Lys23]=0.92208
	diff.= 0.33378
	WSD=0.20383
	P=0.00002

	mean[H4 Lys16]=0.66568 vs. mean[H3 Lys27]=0.94033
	diff.= 0.27465
	WSD=0.20383
	P=0.00107

	mean[H4 Lys8]=0.73112 vs. mean[H3 Lys18]=0.94114
	diff.= 0.21002
	WSD=0.20383
	P=0.03768

	mean[H2B Lys16]=0.56880 vs. mean[H3 Lys9]=0.90255
	diff.= 0.33375
	WSD=0.20111
	P=0.00002

	mean[H2B Lys11]=0.58831 vs. mean[H3 Lys14]=0.91700
	diff.= 0.32869
	WSD=0.20111
	P=0.00002

	mean[H4 Lys16]=0.66568 vs. mean[H3 Lys23]=0.92208
	diff.= 0.25640
	WSD=0.20111
	P=0.00283

	mean[H4 Lys8]=0.73112 vs. mean[H3 Lys27]=0.94033
	diff.= 0.20921
	WSD=0.20111
	P=0.03454

	mean[H2B Lys16]=0.56880 vs. mean[H4 Lys12]=0.85433
	diff.= 0.28553
	WSD=0.19786
	P=0.00039

	mean[H2B Lys11]=0.58831 vs. mean[H3 Lys9]=0.90255
	diff.= 0.31424
	WSD=0.19786
	P=0.00006

	mean[H4 Lys16]=0.66568 vs. mean[H3 Lys14]=0.91700
	diff.= 0.25132
	WSD=0.19786
	P=0.00324

	mean[H2B Lys16]=0.56880 vs. mean[H2A Lys7]=0.79467
	diff.= 0.22587
	WSD=0.19385
	P=0.01081

	mean[H2B Lys11]=0.58831 vs. mean[H4 Lys12]=0.85433
	diff.= 0.26602
	WSD=0.19385
	P=0.00111

	mean[H4 Lys16]=0.66568 vs. mean[H3 Lys9]=0.90255
	diff.= 0.23687
	WSD=0.19385
	P=0.00602

	mean[H2B Lys11]=0.58831 vs. mean[H2A Lys7]=0.79467
	diff.= 0.20636
	WSD=0.18863
	P=0.02245

	mean[H4 Lys16]=0.66568 vs. mean[H4 Lys12]=0.85433
	diff.= 0.18864
	WSD=0.18863
	P=0.04998


